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Section-A (Marks 17)

1 Circle the correct option i.e. A/ B/ C /. Each part carries one mark.

(i) A closed surface contains two equal and opposite charges. The net electric flux from the surface

will be
A Negative B Positive
C. Infinite D Zero
(i) What will be the current in the circuit shown?
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(iii) Watt-hour measures
A Current B Electric energy
e Power D Voltage
(iv) According to Faraday's Law, efhf.indlced in a circuit dependson—
&, Maximum magnéatie flux B. Rate of change of magnetic flux
C. Change in magnetic flux D Initial magnetic flux
(v) An electron beam.is moving parallel- The nature of force betweenthemis
A, Attractive
B Repulsive
C Attractive or repulsive depends on the magnitude of velocity Election beam
D. Nane of these
(i) In Compton scattering, the change in wavelength is maximum if
A, Angle of scattering is 90° B. Angle of scattering is 60°
G Angle of scattering is | 80" D, Angle of scattering is Zero
(vii) Temperature coefficient of thermister is
A Always negative
B Always positive
c Changing form positive to negative and vice versa
D May be positive or may be negative
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SECTION - B (Marks 42)
.2 Attempt any FOURTEEN parts. The answer to each part should not exceed 3to 4 lines. (14x3=42)

(i) Calculate the gain of non-inverting amplifier shown in figure

40k€d

(i) Draw the symbolic circuit diagram for exclusive NOR (XNOR) gate.

(i) Write down the heating effect of current

(iv) State Ohm's law

(v) A parallel plate capacitor of capacitance (' is charged using a battery of emf J, . After the capacitor

Is.charged, the battery Is removed and the distance between the capaeitors is doubled. Find the new
energy stored

(vi) Show graphically the phase relationship between the curféntand the voltage across an inductor

(vii) You are given a number of 24/ capacitors, eachwifh,a maximum working potential difference of 10} .

How would you construct capacitors of:

a 1 4 I capacitance, suitable for use upte: 201 .
b 21F capacitance, suitable for use upto 20V .
{vili) A source of light is placed at a distance of 0. lm from a photocell and cut-off potential (stopping potential)

is found to be F,,. If the lamp is how placed at a distance of 2m , what will be the cut-off potential
(ix) Define Elastic limit.
(x) What is a photon?
(xi) Why ordinary silicon diodes do not emit light?

(xi)  When a magnetis pushed into the solenoid, the ammeter records a small current:

a Explain why a current is produced.
b State what is observed:
t, When the magnet is pulled out of the solenoid.
2 When the magnet is stationary inside the solenoid.

®

Bar magnet /

Solencid
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